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1. Explain that for any a € R and any

sequence {c,}, [5,00) is not the inter-
val of convergence of the power series
oo

> en(x—a)™.

n=0

o0
. Suppose > ¢,(—3)" converges.
n=0

Show

o
that »_ ¢,2" converges.

n=0

. Find the radius of convergence and inter-
val of convergence of the series.

© i( )n(2x+3) .

nlnn

4. A function f is defined by

flx)y=1+20+2"+22° +2* + .-

Find the interval of convergence the se-
ries and find an explicit formula for f(x).

. Find a power series representation for the

function and determine the radius of con-
vergence.

(a) f(z) =5 —=);
(b) f(z) = 2n(1l +x);

. Evaluate the indefinite integral as a

power series.

@ [

(b) / tan~! (22)dz.

sin x . . .
. Evaluate / —— dz as an infinite series.
T

. Find the sum of the series
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